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2008-09 State Competition

Match #2


These questions are for use in the Virginia High School League’s Scholastic Bowl State Tournament. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Participants must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before the end of the state tournament is prohibited. 

(b)
Releasing these questions to entities outside Virginia is prohibited. 

First period: 15 tossups, 10 points each
1.
Johns Hopkins scholar Hollis Robbins claims it is a critique of the ‘transparent’ constitutional monarchies that were emerging in the 19th century. Its characters include an honest old minister, an honest courtier, and two tailors who make clothing that is ‘as light as a cobweb’ and ‘must feel as if one had nothing on at all.’ Of course, there is also the child who exclaims, ‘But he has nothing on at all!’ What is this Hans Christian Andersen fairy tale in which the title character parades down the street naked? 

ANSWER: The Emperor’s New Clothes
2.
She performed a song where the protagonist ‘put the bottle to his head and pulled the trigger,’ entitled ‘Whiskey Lullaby,’ in a duet with Brad Paisley. She received the Grammy for Best Bluegrass Album for New Favorite, an album featuring singles like ‘Let Me Touch You For A While’ and ‘The Lucky One.’ Recipient of 21 Grammy awards, a record for a female performer, this is what bluegrass artist who performs with Robert Plant occasionally, but usually with the band Union Station?

ANSWER: Alison Krauss
3.
He banned his country’s fascist Blueshirts in 1933 after they threatened a massive parade in his capital. In 1937, he put in place a new constitution that made his country’s President the Head of State, instead of the King’s Governor General. When World War II broke out he declared an emergency that did not officially end until 1976, despite his country’s neutrality. Who served three terms as Taoiseach (TOW-seech) between 1937 and 1959, and then between 1959 and 1973 was President of Ireland? 
ANSWER: Eamon de Valera
4.
In December 2007, he helped Hornswoggle defeat The Great Khali. In 2003, he wore a mask and called himself ‘Mr. America.’ He became evil in the mid 1990s, becoming a leader of the New World Order and changing his nickname to ‘Hollywood.’ He had also feuded in the 1980s with Andre the Giant. What wrestler today makes occasional appearances on his daughter’s reality show, Brooke Knows Best, and was in the 1980s the subject of ‘Hulkamania’? 
ANSWER: Hulk Hogan or Terry Gene Bollea
5.
Pilgrims on the Hajj are required to have the ACW135Y vaccine against it.  People with AIDS are vulnerable to the fungal type; however, the viral type is most common and the bacterial type is most dangerous.  Its symptoms include photophobia, headache, and neck stiffness.  Name this disease that inflames the membranes that cover the brain and spinal cord.

ANSWER: meningitis
6.
Their interactions were described in Chronicle of My Musical Life, one of its members’ memoirs. One member was a chemist, another a military officer – all were self-taught musicians. Henri (AWN-ree) Collet (koh-LAY) gave a similar name to a group of French composers. Mily Balakirev (BAH-lah-kee-reff), Cesar Cui, Alexander Borodin (BOH-roh-deen), Modest (MOH-dest) Mussorgsky, and Nikolai Rimsky-Korsakov were the members of what group of Russian composers? 
ANSWER: The Russian Five or The Mighty Handful
7.
A machinist uses this five-letter word to refer to three or more gears that are connected and transmit force. For a general, it refers to the vehicles that carry supplies. A fashion designer uses it to refer to the part of a dress that falls on the ground behind someone. An athlete uses it to refer to a regimen of preparation for competition. What word usually refers to a group of connected cars with wheels that travel along a railroad? 

ANSWER: train
8.
He defeated Edward Roush to get into the House of Representatives. Before assuming higher office, he defeated Birch Bayh to become a U.S. Senator. During his campaign for higher office, he was told, ‘Senator, you’re no Jack Kennedy.’ While in higher office, he made statements such as ‘The future will be better tomorrow’ and ‘For NASA, space is still a high priority.’ Also mocked for his spelling of ‘potato,’ who was the Vice-President under George H.W. Bush? 

ANSWER: Dan Quayle
9.
After it was sacked by Gilmer in 260 F.E., it lost its importance. Its 800 administrative sectors included Mycogen, Dahl, and Wye. Twenty agricultural worlds were required to feed its population of 45 billion spread across its 75 million square miles. Its landmarks included the Imperial Library, the Imperial Palace, and Streeling University, where Hari Seldon taught psychohistory. What was this planet covered by a city in Isaac Asimov’s Foundation series? 
ANSWER: Trantor
10.
Mariner 10 is no longer the only spacecraft to have visited here, as the MESSENGER probe visited in 2008. Relative to Earth, it is never more than 28 degrees from the horizon. Ancient astronomers believed it was two objects, Apollo and Hermes. Locked into a 3:2 resonance with the sun, it has the most eccentric orbit of any planet in the solar system.  With an orbital period of only 88 days, this is what planet, the closest to the sun?

ANSWER: Mercury
11.
This neighborhood is adjacent to Buena Vista Park. Attractions here include the Red Victorian Bed & Breakfast and the Amoeba Music record store. The Gap at the intersection of its namesake streets closed in 2007, although the Ben & Jerry’s remains. The first non-religious free clinic in America was opened here in 1967, shortly after Time Magazine’s article ‘The Hippies: Philosophy of a Subculture.’ What is this neighborhood in San Francisco? 
ANSWER: Haight-Ashbury
12.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the greatest common factor of 420, 150, and 72, given that 420’s prime factorization is 2, 2, 3, 5, 7; 150’s prime factorization is 2, 3, 5, 5; and 72’s prime factorization is 2, 2, 2, 3, 3?

ANSWER: 6
13.
Some characters in this short story include the gambler John Oakhurst and the hastily dubbed midwife, ‘Stumpy.’ It ends with the death of the title character and Kentuck in a flash flood. It begins with the birth of the title character, although the title character’s mother, Cherokee Sal, dies while giving birth. Set in a gold miners’ camp, what is this short story by Bret Harte? 
ANSWER: “The Luck of Roaring Camp”

14.
This law was named for its proponent by VLSI pioneer Carver Mead. Its namesake stated in 2005 that the size of atoms would prevent it from continuing indefinitely. The supposed ‘second law’ states that the cost of a semiconductor fabrication plant also increases exponentially over time. Named for a co-founder of Intel, what concept in computer science is the observation that the number of transistors on integrated circuit has doubled every two years? 

ANSWER: Moore’s Law

15.
She worked for a Swiss physician, Philippe Curtius, from whom she learned the art for which she became famous. She taught art to Louis XVI’s sister, and was thus nearly guillotined – she avoided the blade by making representations of other guillotine victims. She fled to Britain, setting up a traveling exhibition of her works, which included the ‘Chamber of Horrors’ and likenesses of Voltaire and Benjamin Franklin. Who is this artist, today the namesake of museums containing wax figures? 

ANSWER: (Madame) Marie Tussaud or Marie Grosholtz
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
Hans-Adam II is the prince of what microstate, whose capital is Vaduz, located between Switzerland and Austria? 

ANSWER: Liechtenstein (leek-ten-STINE)
1B.
What commander of the First Corps of the Army of Northern Virginia was noted for his vigorous opposition to Pickett’s Charge? 

ANSWER: James Longstreet
2A.
The Afghan is the most recent novel by what author of The Odessa File and The Day of the Jackal? 
ANSWER: Frederick Forsyth
2B.
Processed animal fat or vegetable oil, as well as crops like soybeans and switchgrass, can be used to create what type of alternative, non-petroleum based fuel? 
ANSWER: biodiesel
3A.
What USA TV series features James Roday as Shawn Spencer, a man who convinced police he possesses a sixth sense?

ANSWER: Psych
3B.
What five-letter word describes the state of being penniless, but is also the past tense of a verb meaning ‘to render into pieces’? 

ANSWER: broke
4A.
A lack of what B-vitamin, also known as cobalamin (koh-bah-LAH-min), leads to pernicious anemia?

ANSWER: vitamin B-12
4B.
What Prime Minister of Canada saw a 16-seat increase for his Conservative Party in the 2008 federal elections?

ANSWER: Stephen Harper
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Solve for x.  7x minus 15 equals 3x plus 1.

ANSWER: x equals four
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  What is 58 percent of 9100?

ANSWER: 5278
6A.
The junction rule and loop rule are whose rules for multiloop circuits?

ANSWER: Gustav Kirchhoff
6B.
Botticelli’s The Birth of Venus and Durer’s The Adoration of the Magi are exhibited at what museum in Florence, Italy? 
ANSWER: the Uffizi Gallery

7A.
The most often said phrase in an Eastern Orthodox service – and an integral part of a Catholic Mass – is what Greek phrase that means, ‘Lord have mercy’? 

ANSWER: Kyrie eleison
7B.
Who invented the mass spectrometer, discovered that elements had isotopes, and devised the plum pudding atomic model after discovering the electron? 

ANSWER: J.J. Thomson
8A.
The Boers (BORZ) of South Africa established the Transvaal Republic and what other ‘Free State’ whose name reflected the Boers’ Dutch origin? 

ANSWER: Republic of the Orange Free State

8B.
What ‘longshoreman philosopher’ wrote The True Believer? 
ANSWER: Eric Hoffer
9A.
What type of phrase occurs when a noun phrase modifies a noun, such as in the sentence ‘Bob and Tom, bandmates since college, signed a record deal’? 
ANSWER: appositive phrase
9B.
What author befriended the five sons of the Llewelyn Davies (DAY-vis) family, using them as the basis for the ‘Lost Boys’ of his novel Peter and Wendy? 
ANSWER: J.M. Barrie
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Convert the decimal number 117 into a base 6 number.

ANSWER: 313
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION.  What is the area of a square with a perimeter of 92 meters?

ANSWER: 529 square meters
Third period, 15 toss-ups, 10 points each

1.
This mammal’s species name is johnstoni, named after Sir Harry Johnston, who procured a specimen in the early 1900s.  Its native habitat is the Ituri Rainforest in the Democratic Republic of the Congo.  Name this animal with some zebra-like stripes that is known as the forest giraffe.

ANSWER: okapi
2.
As a scholar, this king translated Boethius’ The Consolation of Policy. After his victory in the Battle of Ethandun, he forced the Danish chief Guthrum the Old to sign the Treaty of Wedmore. His Book of Dooms was his written law code. Later in his reign, he turned to organizing his navy to prevent further Danish raids; both the U.S. Navy and Royal Navy claim him as their founder. The first ruler to call himself ‘King of the English’ was what only English king known as ‘the Great’? 

ANSWER: Alfred the Great

3.
The airship Resolute had one in World War II. The Declaration of Paris in 1856 ended their issuance by European powers. Aside from the Resolute, the U.S. has not issued any since the War of 1812. Ron Paul suggested issuing these in 2001 to capture key leaders of al-Qa’eda. What documents, authorizing the bearer to destroy the assets of a foreign individual or nation, are most often issued to those preying on foreign shipping? 

ANSWER: letter of marque
4.
This series, set between 1912 and 1975, is about a lawyer that tries to save the lives of his friend’s incarnations – a young aristocrat, an ultranationalist, a Thai princess, and a sadistic orphan. Characters include Prince Toin (toyn), Rie, the protagonist’s wife, and the protagonist, Shigekuni (shee-gay-KOO-nee) Honda. Its name comes from an area on the moon. Spring Snow, Runaway Horses, The Temple of Dawn, and The Decay of the Angel are the four works in what tetralogy by Yukio Mishima? 
ANSWER: Sea of Fertility

5.
Worshippers believe this god created the concept of asha. Actions contrary to his will are called druj. In Zurvanism, he and his opposite are both subordinate to Zurvan, or time. He is served by a number of Yazata, or angels, and worshipped at fire temples. He is the highest object of worship in the Avesta. Later Persian innovations led to dualism, where this god fought his evil rival, Ahriman. Who is the chief god of Zoroastrianism?  
ANSWER: Ahura Mazda or Hormuzd
6.
A ketone can be converted into one by the Bamford-Stevens reaction or the Shapiro reaction.  They are also known as olefins.  Examples of them include butylenes, propylene, and the simplest one, ethylene.  Name this type of hydrocarbon that has one or more carbon-carbon double bonds and has general formula CnH2n, where n is at least 2.

ANSWER: alkenes (accept olefin before mentioned)

7.
A minor stir arose in this city last December after a 140-foot-long oil pipe washed up on its shores. Mohammed Ajmal Amir Qasab was taken in as a suspect after a group possibly associated with Lashkar-e-Taiba stormed places in this city, including the Leopold Cafe, Oberoi Trident Hotel, and the Taj Majal Hotel.  What is this Indian city that was rocked by a series of coordinated terrorist attacks in November 2008?

ANSWER: Mumbai (accept Bombay)

8.
He was born Codomannus and took his throne after his relatives were killed by the eunuch Bagoas. He was a royal courier when he took office, and was unprepared to fight the League of Corinth. He was killed after a six-year reign by the Bactrian Bessus, one of his disloyal satraps. The battles of Granicus, Issus, and Gaugamela were victories for Alexander the Great over what last ruler of the Achaemenid (uh-kay-MEH-nid) Persian Empire? 

ANSWER: Darius III
9.
THIS IS A 10-SECOND COMPUTATION QUESTION.  What is the secant of 60 degrees, given that secant is equal to the reciprocal of cosine?

ANSWER: 2
10.
This language uses the word nuk (NOOK) to negate a sentence. Its 36-letter alphabet includes a c with a cedilla to pronounce the ch sound, and an e with two dots above it to pronounce the schwa. This language is, within the Indo-European family, an isolate, although it may have been related to the Illyrian languages. Tosk and Gheg are the two main dialects of what language spoken in Kosovo and a country whose capital is Tirana? 

ANSWER: Albanian language
11.
It can be produced with propylene oxide in the POSM process, but it is mainly produced through the dehydrogenation of ethylbenzene.  Its alternate names include cinnamene, phenylethene, phenylethylene, and vinyl benzene.  Name this organic compound with chemical formula C8H8 that is the precursor and monomer unit of the polymer that forms Styrofoam.

ANSWER: styrene (accept alternate names before mentioned)

12.
His mother was Plouto, his father Zeus, and his stepfather Tmolus. He once stole a golden dog that was guarding the infant Zeus. He had three children: Niobe, Broteas, and a son that founded the House of Atreus. He stole nectar and ambrosia from Olympus. In an attempt to regain the gods’ favor, he boiled and served for dinner Pelops, his son. Who was then condemned to Tartarus to be unable to consume the nearby water or fruit?

ANSWER: Tantalus
13.
He claimed he left the stock market in 1929 when he got tips from a shoeshine boy, then increased his fortune twenty-fold by 1935. Saying, ‘Takes [a crook] to catch one,’ FDR named him the first chairman of the Securities and Exchange Commission. His term as ambassador to the United Kingdom ended when he said, ‘Democracy is finished in England.’ This finished his presidential ambitions, but his sons could still achieve this goal. Who saw his son elected President in 1960? 
ANSWER: Joseph (Joe) Kennedy (prompt on ‘Kennedy’)
14.
Caused by a bacterium of the Clostridium genus, it can be diagnosed with the spatula test.  It can be treated with diazepam or metronidazole, but it is one of the diseases prevented by the DPT vaccine.  Name this disease often associated with stepping on a rusty nail that causes muscle spasms and is also known as lockjaw.

ANSWER: tetanus (accept lockjaw before mentioned)

15.
She was fired from the United Electrical Workers’ UE News in 1952, allegedly because she was pregnant with her second child. At her 15th college reunion, she started interviewing women who went to Smith College. Her notes about the role of women in industrialized societies became her best-known work, one that started ‘second wave’ feminism. What first president of the National Organization for Women wrote The Feminine Mystique? 
ANSWER: Betty Friedan
Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
During World War II, this athlete enlisted in the army, saying, ‘Lots of things wrong with America, but Hitler ain’t going to fix them.’ He retired the first time after two wins over Jersey Joe Walcott. He won the world title by defeating ‘Cinderella Man’ James Braddock, and the nation’s admiration by defeating Max Schmeling in a first round knockout. His second retirement occurred after losing to Rocky Marciano. What heavyweight boxing champion was known as the ‘Brown Bomber’? 
ANSWER: Joe Louis 
2.
The ‘immortal memory’ is read every year on his January 25th birthday. He created the characters of Nannie the witch and Meg the mare in his poem Tam o’ Shanter. He also wrote the poems ‘The Battle of Sherramuir’ and ‘To a Mouse’ as well as the lyrics to the song ‘Auld Lang Syne’ Who wrote the Kilmarnock volume, a poetry collection also known as ‘Poems, Chiefly in the Scottish dialect’?  

ANSWER: Robert Burns
3.
This treaty required the US government to pay $5 million in claims American citizens had against the other party. The border drawn included the 100th West line of longitude, the Red River, and the Sabine River. In addition, a longstanding claim to the Oregon Country was transferred, as was the territory of East and West Florida. What was this 1819 treaty between Spain and the United States? 

ANSWER: Adams-Onis Treaty

4.
Its name comes from the Latin for cutting and its first derivative is equal to the tangent times itself.  Undefined at 90 degrees and equal to one at zero degrees, its reciprocal is the cosine.  Name this trigonometric function that in a right triangle equals the hypotenuse over the adjacent side.

ANSWER: secant
5.
Magnetic permeability is measured in this unit per meter.  It is equal to joules times seconds squared over coulombs squared or volts times seconds over amperes or webers per ampere.  Name this SI unit of inductance named after a nineteenth-century American scientist.

ANSWER: henry
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